DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &
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® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)

B

O ma+mb-—m=m(a+b-1)
®—4a?® + 9b> = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)
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® @ -8 ®-16 @6 ® 256

(x—8)2 = x> - 16x + 64
w2t [ | =64 o]t




4.

x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242




(x+5)(x—6) + 10 & A=} ?

@ (x-2)(x+10) @ (x+2)(x-10)
® (x+2)(x+ 10) @ (x—4)(x+5)
@ (x+1)(x-5)

(x+5)(x—6)+10 = x> —x-30+ 10
=x*-x-20
= (x+4)(x-5)




6. 8x2-10x+3 & ¢15HS| 51H?

@ (2x+1)(4x+3) @(2x—1)(4x—3)
@ (2x+1)(4x-3) @ (2x-1)(4x+3)

® (2x-3)(4x+1)

‘ 8x2 —10x + 3 = (2x— 1)(4x - 3)
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D x®-5x-6=(x—2)(x—3)
@ 12x - 4x® = 4x(x - 3)
@x2 - 1dx+49 = (x-7)?

@ 3x* +5x—-2=(x—2)(3x+1)

@‘W - 9b® = (2a - 3b)(2a + 3b)

@ (x=6)(x+1)
@ —4x(x - 3)
@ (x+2)(3x-1)




8. F oA 2x? —5x+2 9% +x-6 9 FFA A2

@ (x-2) @ (x+3) @ (2x-1)
@ (x+3)(x-2) ® (2x-1)(x-2)

2x2 —5x+2=(2x—1)(x-2)
¥ 4+x-6=(x+3)(x-2)
oA 7 oA o] 359 g (x—2) °lth




B¢~ 10x+m 9 & Q%7 3r-4 % 0], HE @ Q1L

© x-1 2)x-2 ® 2x-1
@ 3x-2 ® 2x-3

B

3x2—10x+m = (3x—4)(x +k)
=3x2 + (Bk—4)x — 4k
3k—4=-10 A k= -2
—4k=mO|EE m=28
3x2—10x +8 = (3x—4)(x - 2)
wrebA] oHE Ql4= x— 2 ot
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e 280 BE AA2Y
o golo] g3t yolt g ;
2 44Age) sk dol N
oF A=l Fdolo] g2?

L= L=
- |
H-.HH
=
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® 2x @ 2x+1 ® 2x+2

@ 2x+3 @2x—|—6

ol §2 x>+ 6x+5=(x+5)(x+1) ?]E=E
WO Zol7} Z4ZF x + 5, x + 1 Q1 AAZ o).

what e} Al o] §L 2x + 6 ok,




